

A BURNING QUESTION

Why did Ray Friar need to get an approval from Councilman Hugh before he could open a flower shop?

TO FIND THE ANSWER:

Do any exercise below and find your answer in the code at the bottom of the page. Each time the answer appears in the code, write the letter of that exercise above it. Keep working and you will discover the moral of the story.

Ⓢ $-\frac{3}{7} \div \frac{1}{2} = -\frac{6}{7}$

Ⓣ $\frac{25}{3} \div \frac{15}{6} = 10/3$

Ⓝ $-\frac{7}{10} \div 7 = -\frac{1}{10}$

ⓐ $-\frac{4}{5} \div -\frac{4}{3} = \frac{3}{5}$

ⓖ $-\frac{7}{9} \div -\frac{21}{6} = 2/9$

Ⓛ $\frac{11}{12} \div -\frac{33}{8} = -2/9$

Ⓨ $\frac{5}{8} \div -\frac{7}{12} = -\frac{15}{14}$

Ⓡ $-\frac{11}{4} \div \frac{2}{3} = -33/8$

Ⓟ $-\frac{45}{4} \div -\frac{15}{16} = 12$

ⓐ $-\frac{15}{13} \div -\frac{10}{11} = \frac{33}{26}$

Ⓥ $-\frac{9}{10} \div -\frac{12}{5} = 3/8$

ⓗ $\frac{6}{20} \div \frac{7}{10} = 3/7$

ⓔ $\frac{5}{6} \div -\frac{7}{8} = -\frac{20}{21}$

Ⓞ $3 \div -\frac{2}{3} = -9/2$

Ⓡ $-10 \div -\frac{4}{7} = 35/2$

ⓓ $-\frac{8}{9} \div 2 = -4/9$

Ⓤ $\frac{4}{15} \div -\frac{14}{5} = -2/21$

ⓕ $-\frac{48}{9} \div \frac{16}{21} = -7$

H U G H A N D O N L Y

$\frac{3}{7}$ $-\frac{2}{21}$ $\frac{2}{9}$ $\frac{3}{7}$ $\frac{33}{26}$ $-\frac{1}{10}$ $-\frac{4}{9}$ $-\frac{9}{2}$ $-\frac{1}{10}$ $-\frac{2}{9}$ $-\frac{15}{14}$

H U G H C A N P R E V E N T

$\frac{3}{7}$ $-\frac{2}{21}$ $\frac{2}{9}$ $\frac{3}{7}$ $\frac{3}{5}$ $\frac{33}{26}$ $-\frac{1}{10}$ 12 $\frac{35}{2}$ $-\frac{20}{21}$ $\frac{3}{8}$ $-\frac{20}{21}$ $-\frac{1}{10}$ $\frac{10}{3}$

F L O R I S T F R I A R S

-7 $-\frac{2}{9}$ $-\frac{9}{2}$ $\frac{35}{2}$ $-\frac{33}{8}$ $-\frac{6}{7}$ $\frac{10}{3}$ -7 $\frac{35}{2}$ $-\frac{33}{8}$ $\frac{33}{26}$ $\frac{35}{2}$ $-\frac{6}{7}$